Math 444HH
HW #53

1) Using techniques of calculus (not your TI89), find the intervals of increase or decrease for the graph of
JS(x)=x"—12x+2. State the coordinates of any relative extrema (rel max or rel min)

2) For f(x) =L , find

Jx

() f'(x)using two different definitions of the derivative.

y g . 1
(b) the equation of the line tangent to the curve at the point where x =—.

3) Find the dimensions that give the largest area for a rectangle
that has two vertices on the graph of y =10—x"and

two vertices on the graph of y =x" —4. Sce the figure at the
right. (Use your TI89, not techniques of calculus.)
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